ERREFIRTRER

o568 [H1FK Z AR AL 1 X i S SR B B S R O AR b X 538
)

OXR&%5HHA 8 A 31 B (A
ATmy Rl AETTRERY 2 Ke 0 & I %2 R % B = 5% &k OF
el 10 0 0 0.0 0 0 | 0 (5] 224 0 2 2 6 3 9 1 1
TR E2 3 0 0 0 2 X [ 7 ORI 25117 0 4 4 2 8 0 1

( 7E = —L R ) o

(5[3‘2) ]%Jiﬂﬁr %2& ﬁm*ég @gﬁfa& . (=) EER VARERIT 2L

b - - ik —  PEBE VE8T GO
] i — W o L .
VEE FEB ) Vil 7oL N L g
B7uy syl A BT RERY 2 WEM 28 4 FI %2 i BB = 5% &k OF
% |0 0 0 0 0 1 0.0 0 0 0 3 | 4 (%] 40 8 3 2 3 8 6 11 0 0
A & b0 0 0 0 10 ooo(ogﬁo )|1 ("] 405 1 0 1 1 6 5 2 1

FE & 12[0]

(5K & - xR () kMW VAEFT 2L

[%] Eapil —  NEPSF V8 He ()
&)

[f] R 403 — Er KT . L 3
VR AL Vi 7L VBT s e kS ()



